Kaptouka 1

PewwuTe ypaBHeHMe:

a)x+2,345=8,9
6)x—7,89=2,11
B) 5—x=3,45

KapTouka 2

PewwuTe ypaBHeHUe:
a) 7,891 + x = 18,19
6)x—3,4=2
B)11-x=1,123

KapTouka 3

PelwunTe ypaBHeHME:

a)x+1,456=2,3
6)x—1,234=3,4

KapTouka 4

PewwnTe ypaBHeHuUeE:
a)1,23+x=23,4
6)x—3,45=2,8

B)7,1-x=3,17 B) 12—-x=2,356
KapTtouka 5 KapTtouka 6

PewwnTe ypaBHeHuUe: PewwuTe ypaBHeHue:
a)x+12,1=20,23 a)1,23+x=7
6)x—7,23=8,9 6)x—-7,8=13,1

B) 6—x=3,45 B) 11,2 —x=2,31
KapToukKa 7 KapTouka 8

PewwnTe ypaBHeHue:

a)x+2,56=3,451

PewwnTe ypaBHeHue:
a)1,22+x=2,01

6)x—1,23=5 6)x—3,56=2,7
B)511-x=3,1 B)11-x=5,6
KapTtouka 9 KapTouka 10
PewwnTte ypaBHeHuUe: PewwnTe ypaBHeHue:
a)x+1,45=7,8 a)2,34+x=18,1
6)x—7,99=5,8 6)x—-1,4=5,11

B) 16 —x=6,11 B)8,1-x=2,11

KapTouka 11

PelwunTe ypaBHeHMe:

a)x+2,34=8,3
6)x—2,3 =4,54
B) 8,6 —x=3,12

KapTtouka 12
PewwnTe ypaBHeHuUe:
a)3,25+x=5,1
6)x—6,1=2,23

B) 14 -x=11,31




BapuaHT 3apaHune 1 3apaHue 2 3agaHune 3
BapuaHT 1 6,555 10 1,55
BapuaHT2 10,299 5,4 9,877
BapuaHT 3 0,844 4,634 3,93
BapunaHt 4 22,17 6,25 9,644
BapunaHTt 5 8,13 16,13 2,55
BapuaHT 6 5,77 20,9 8,89
BapuaHTt 7 0,891 6,23 2,01
BapunaHT 8 0,79 6,26 5,4
BapuaHT 9 6,35 13,79 9,89

BapuaHT 10 15,76 6,51 5,99
Bapunant 11 5,96 6,84 5,48
BapuaHTt 12 1,85 8,33 2,69




